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WEST BENGAL STATE UNIVERSITY
B.A. Programme 5th Semester Examination, 2021-22

ECOGGEC01T-Economics (GE1)
INTRODUCTORY MICROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG LT T e T
Candidates should answer in their own words AT e IR I TS TN N
and adhere to the word limit as practicable. Geq e 291

I. Answer any six questions from the following: 2x6 =12

e @-Pie =36 2o Oed mies
(a) What is budget line?
CED @A FIF 6 9
(b) State the law of Diminishing Marginal Utility.
FEe aifes Seiiiior [ Srad e
(¢) What is the slope of the demand curve for a normal good?
A G CFCY BIRA @ BIeT (P 2 9
(d) Distinguish between Gross Profit and Net Profit.
GG AP € TS TR [y AL Teaed Fh

(e) What is the shape of the Average Revenue Curve in a perfectly competitive
market?

s§¢fft eferaifTenE AT FICH T SNEH @R AFFo @5 23 2
(f) What do you mean by Long Run in Production Theory?
Teriive ©rg MNP F10s 5 @RIT ¢
(g) Distinguish between money-wage and real-wage.
il TG @ eiFe TR N1 2N Fel
(h) What is the value of Marginal Fixed Cost?
eifes g Ia-93 W F© ¢
(1) State the law of Variable Proportions.
SAfSTNe SeeiiTed 79 Srad Sl
(j) What is an isoquant?
FANCRA W @ FICF I 2
(k) What is price discrimination?
VIS RS0 P A0 9
(I) What is the shape of Average Fixed Cost Curve?
% 3 8 @I It & @17 ¢
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2. Answer any two questions from the following: 4x2 =8
fasfeie @-ie 76 avea Ted wies

(a) Distinguish between ‘Change in demand’ and ‘Change in quantity demanded’.
pifzwid “fies” @R Bifenix wifasies sfiaes’-aa s 21w @t

(b) How is price-elasticity of demand measured for a particular point on a negatively
sloped straight line demand curve?

WS Toge FReE T it @R @il e Rre viftrnm wiee fEfogves!
IreI Ifwliot T2 27 9

(c) Discuss the features of a perfectly competitive market.
it eifcaiferer Arsitaa @fiEref siEst s

(d) Discuss the characteristics of an Indifference Curve.

e @ (RIS STl S
3. Answer any three questions from the following: 10x3 =30
fefIie @-ie foqfs aiesw Tex niss
(a) Discuss how equilibrium of a consumer is determined under Indifference Curve 5+5

approach. Show how Total Price Effect = Income Effect + Substitution Effect.
s @ oafore [Feim aaoe (For oy e =@, ©f S sl
G W 2O = B &eld + 7T 2ok — Foi & mreie|

(b) What is a Production Function? Explain the relationship between Total Product, 2+8
Average Product and Marginal Product with suitable diagram.

T TNFSF FIE A 9 (NG o, o Teoiivel € s Teolveas W 7ol
TR Hoaag SCAlbl S|

(¢) “A monopolist firm does not have a Supply Curve” — Explain.
“ LA PRI CFCT (I @9 @A AT A — I FCA
(d) Distinguish between long-run cost and short-run cost. Why is the long-run average 4+6

cost curve called the envelop of the short-run average cost curves?
RPN R € FHPEA TJF-9F T 1L T RGN NG @RNCE Sl
NG @A AR ~oKF Io7 =T & 2
(e) How is short-run equilibrium of a perfectly competitive firm determined? Explain 5+5

the shut-down point and the break-even point of a perfectly competitive firm with
diagram.

o eferforee FoR FeEm o Foa Nl s =@ ¢ a3l o
2fSIfAeITeF FIC Shut Down Point @3 Break Even Point 5@ i<t St

(f) How is profit generated? Explain the Ricardian Theory of Rent. 2+8
el AR Oed = 2 RS demi ©glh St e

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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